WS WelfTOHO gaatr “\

DPSS—A
p\gcxreie Modhebhes S ciapoay

|
|

Toval O /’\
Gassidn® W 1TE L U TG T Sdon .
B Re
Q)T(\\' /// \k.i / )
T=Ecotey adew ded | oy W
N= E drew \qde gens | /)" / .
To N> Eoe  jadet| |/
v s
)y S' 0T il

S/= 6904_6_‘_9\6’\ blair evn ,ﬁanca 3‘

T= & case drew Ja.o\e}

S'NnTE S\Api:'r L// L

c,)_(u ) B

U= bloir, edn | frandc i alex humer eqseq dvew €

'\fb

q\eﬂf} %

T= £casey  dvews el

(U-7T) = £var, edn , francis ‘g, a}/ex;ﬂuﬂfrer}
S= Ealex . huer casey dvedl [T/

u- T)(\S':gq\exm(ﬁéf} A 2R
8%

Queéstion 2

Cnsider the fellowing reladion en ¢he - set £1,2,343

| L\ R=€ (1)) ), @), €5,8) Cayq)

b /\“;u (435, C1,2),02,35,C2, 4%
(= Y 1% =

— L —

‘\)\1\5 nat rgpge,ewg/b@tocge CH,4) &£

A R 8 not  gynimeine Eovse (24) £/ but (Y)Y .

MY RS qransihve brguee whEﬂD\feT/Q\Qb b Rc dhen

alce . \/
N Aoy

A g

1



L S

Date:

Subject:...

Queshon 3
odlLazzl«4 7-0.521
=0 & @ :
o
| oA Sl
| A )
BYTL-13] —T0.32]] b )
i:\"‘o- - 071 \ /
T30 B Sy Sbr
S G R
Question 4 « _
TNE 4un<kiol pq qndgo«eg\\_a\ Py pgiR—6x-]
_ond £:r=> 82X | = Ghe
AT
o) o %) 1T Jip) op &) '
Vo) = 6x=t 5 Tdig(a-2x)
g_—g‘"gbﬁ): ex-1 318 e 0. (B-ER)#)
5 gW= 6 x' -L = _Oxop4l .\
~% §W= 6% -3 agW=6x<% . % )
o= 6x-2 il - R
a= &y +2Z' 3
SN T 2 =
SQﬁ)‘—ixfk N ¥
)




